Maclaurin Theorem

2012
Q6 -5 marks
Write down the Maclaurin expansion of e* as far as the term in x°.

. . ‘ ) . 2
Hence, or otherwise, obtain the Maclaurin expansion of (1 + ¢%)" as far as the term
.3
inx’.

Written Solutions
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Q5 — 6 marks

Obtain the first four terms in the Maclaurin series of Y1+ x, and hence write

) . . ) f 2
down the first four terms in the Maclaurin series of V1+x°.

Hence obtain the first four terms in the Maclaurin series of /(1+x)(1+ x?). 2
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Q9 — 4 marks

. . . . . . .09
Obtain the first three non-zero terms in the Maclaurin expansion of (1 + sin“x).

Written Solutions
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Q14 -9 marks
Express —\—Jrr,“—_—; in partial fractions. 4
(xv+2)(x—4)

Hence, or otherwise, obtain the first three non-zero terms in the Maclaurin
2 rbx—4
(x+2) (x—4)

on

expansion of

Written Solutions
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Q12 -7 marks

Obtain the first three non-zero terms in the Maclaurin expansion of x In(2 + x).

Hence, or otherwise, deduce the first three non-zero terms in the Maclaurin

expansion of x In(2 — x).

Hence obtain the first two non-zero terms in the Maclaurin expansion of

x In(4 — x%).

[Throughout this question, it can be assumed that -2 < x < 2.]

Written Solutions
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Q6 — 5 marks

Find the Maclaurin series for cosx as far as the term in x*,

-1 Deduce the Maclaurin series for f(x) = Lcos 2v as far as the term in x*

7 Hence write down the first three non-zero terms of the series for f(3x).

Written Solutions
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